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4404-C

M.A. (Previous) Examination, 2015

HISTORY
Paper : IV-C
[History of India AD (1858-1964)]

Time ; Three Hours
Maximum Marks : 100

PART-A (@v8-31) | [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.

st vvT @ e ¥ Y@ YA F SW 50 TR
J afus 7 2 st T B oFF wAr R

PART-B (@vs-9) [Marks : 50
Answer five questions (250 words each). Selecting
one question from each unit. All questions carry equal marks.
ToF @E ¥ TE-TE W I g, HA O
v FT Y& T IR 250 VIl ¥ afew A
Toft wod B Fw wEA T
PART-C (@vS-9) [Marks : 30

Answer any two questions (300 words each).
All questions carry equal marks.

F 3 T FY TRF WA H IW 300 IR
J afuF T B Tt A ® o e €
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PART-A
(@ug-ar)

1. Answer all questions (50 words each). All questions carry
equal marks.

Tt 9 FE afed & gow W w1 S| 50 TR
g Afuw 7 w1 oot o # o gum &

UNIT-I
(3&TE-1)

(i) What was the Administrative decentralization of
Indian Council Act 1861 ?

1861 % s wifde T F vt e
aﬁaxmwﬁ?

(i) How Panchdeha problem was resolve ?
TR HEFe 1 THME HY gA?

UNIT-1I
(geTE-11)

(iti) Explain the main recommendation of Buttlar
Committee.

TR 9fFfa # g fawfet # ool s

(iv) What was the finance decentralization policy of Lord
May ?
o WA W fo fasieRe w1 Ay w=mw oot
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UNIT-III

(swE-111 )

(v)  What was the social objects of Prathana Samaj ?
g &% § e GES % F Seg 97

(vi) What was the Subordinate Union Policy (1858-1906)
of British Government India Policy ? Explain.

fafewr WA WER w1 I T ow WY SfuEE
THEO &1 Afa (1858-1906) 1 #i? T HifS)

UNIT-1V

(FFE-1V)

(vil) What was the working system of extremist party ?

I TRARET A FTowrAfaiy F@m of?

(viii) What was the Rolet Act, why Gandhi oppose it ?
o TR F o7 M A T fauy @ e

UNIT-V
(FFE-V )

(ix) What process was adopted by Government of India
to integration of native states in Indian Union ?

=t T H RaE g9 o ofmfem v # fom
FA-T g T w1 T2

(x) Examine the basic feature of Non-Alignment with
reference to contribution of J.L. Nehru.

AU oTReH F & YA WR FW W
Y TERR o YeE ® AMEN w1 whaw s
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PART-B
(Tve-a)

Answer five questions (250 words each). Selecting one question
from each unit. All questions carry equal marks.

TIF THE ¥ TH-UER T IO T, HE U T Hie
YF Y99 H IW 250 TR 9 Afuw 7 g sty # ofw

A
UNIT-I
(FR-1)
2. Discuss the administrative reforms of Lord Canning.

e BT F TRt gurl w1 sren st

Explain the policy of British Indian towards Tibet.
fea & 3o fafew e & =0 /A7 f T= Fifsw

UNIT-11

(gms-11)

Give a brief account of Industrial and agricultural policy of
Government of India between 1858 and 1914. How far is it
correct to say that it was more in the interest of British
capital list than the Indian people.

T 1858 3R 1914 ® = WRA WHR H Amifies R
FiY ga=i Aifq w1 wfira gfeg S 98 w1 w7 T
Tt ? fF urdta s = erden fafewt oSt w1 ethmw
fea qww e
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5. Explain the essential feature of the ryotwari system of land
revenue with special reference to Thomas Munro's
contribution to its evolution.

- HT A e # e fvvaet w ene,
% faem ¥ oOWE T P ATRR @ WY § wife

UNIT-III

(FwE-1I1)

6. Tribe movement should be viewed as "history from below".
Discuss the objects and nature of the movement on late
19th century India.

YA STReH Y W IV IfaE™’’ % ®9 H <@
=fenl 193 TS & 390 H 9 § S M=o & wedl
AR wEy F e St

7. Comment upon Gandhi attempts to uplift the position of
women.

T & S TG M B T w g Fifw

UNIT-IV

(FFTE-1V)

8. Explain the communal Award, why Gandhi oppose it ?

TSI 9 w1 SRS Siftea| Mt 3 39 faay o5y
fwan?
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9. What was the difficulties before Indian Communist Party
and how Meerut conspirancy (1934) effect cominunist
movement.

IR wEfRe TR % wey g Al off @R we
YEET HE (1934) 1 FHAR A=eR # fFE TR
yofaa femam

UNIT-V

(FFE-V )

10. Give a critical account of British policy towards the English
Education between 1858-1905.

1858-1905 = WUy waA-fyen = wfa fafew Fifs =
SATITeHF T HIST

11. What was the contribution of First Five Year plan for
planned economy ?

YUY THENTT Al F41 oft? 9w faee enfde fawma o
T AR @ R TR HfE

PART-C
(@us-v)

Answer any fwo questions (300 words each). All questions carry
equal marks.

FE & YT FIC THF T HT IHW 300 R F e 7 B
i gl & ofw que €
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UNIT-1

(3TE-1)

12. Trace the circumstance, which lead British Government of
India to annexation of Burma.

fofer g @R F1 TH W Afywr gEfen wRfcfe
T W@fwa wifsu)

UNIT-II

(FTE-11)

13. Trace the gradual decline of Indian town handicrafts. In
what way did it contribute to the economic unification of
India.

T TR FRRES ® FHw wH w1 frewm F i
T R F oNfUw TR ¥ T OvRE W@ R

UNIT-III
(TE-1I1 )
14. Examine the main trends in social reform and social changes
in India 1858-1929.

1858-1929 & W9 WRG W WHIYH FuR T WHITF
et w1 wE v # gdem s

UNIT-1V

(FFE-1IV)

15. Discuss the role of Subhash Chandra Bose in Indian politics.
W TSR W ogemes 9w # gfier s faee
wifaal
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UNIT-V

(FFE-V )

16. Identify the main feature of Industrial development in India
from 1914 to 1947 with special reference to the emergence
of a class of factory labour.

WK # 1914-1947 7% e fowm ® wg@ Afewan
1 TR Fa o B T 9 @ ¥ H I3 & e
T H il
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